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(2x7) + 5 = _______ 

(7x7) + 5 = _______ 

(6x7) + 3 = _______ 

(7x7) + 4 = _______ 

(8x7) + 6 = _______ 

(5x7) + 3 = _______ 

(4x7) + 3 = _______ 

(6x7) + 2 = _______ 

(2x7) + 4 = _______ 

(8x7) + 2 = _______ 

(9x7) + 4 = _______ 

(7x7) + 3 = _______ 

 

 

396 

  x7 

 

 

 457 

   x7 

 187 

  x7 

609 

  x7 

635 

  x7 

 

 

298 

  x7 

436 

  x7 

 177 

  x7 

 

 

 

 

Make sure you 

complete the 

sum in the 

bracket first. 

I know my 7x 

Table and it 

shows. 

 

Signed: 


